Name:

(Volume of Composite Figures)

The Thompsons are interested in purchasing a RV. Which RV has more room?

e= f=

Volume of space one (green):
~1m
X X = m3

Volume of space two (orange):

A X % = a

Preview

Please log in fo download
the printable version of this worksheet.

Volume of space one (blue):

2.7m Volume of space two (yellow):

X X - 3

‘S Volume of the living space:

+ = 3

RV has more room.
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ANSWER KEY

CVqume of Composite Figures)

The Thompsons are interested in purchasing a RV. Which RV has more room?

a. e = 3.3 f -

/
= Volume of space one (green):
- = — 3

| m

~F L}

52.947 + 4.403 1,694 3

RV P has moreroom.
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